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rcardis
Note
	Wilcoxon rank sum test

data:  sham and sni
W = 10, p-value = 0.7619
alternative hypothesis: true location shift is not equal to 0

rcardis
Note
	Bartlett test of homogeneity of variances

data:  val by type
Bartlett's K-squared = 0.029243, df = 1, p-value = 0.8642


	Bartlett test of homogeneity of variances

data:  val by treat
Bartlett's K-squared = 0.61671, df = 1, p-value = 0.4323

[1] 0 1

	Shapiro-Wilk normality test

data:  data$val[data$type == p & data$treat == t]
W = 0.94652, p-value = 0.6944

[1] 1 1

	Shapiro-Wilk normality test

data:  data$val[data$type == p & data$treat == t]
W = 0.81571, p-value = 0.08099

[1] 0 2

	Shapiro-Wilk normality test

data:  data$val[data$type == p & data$treat == t]
W = 0.90182, p-value = 0.4402

[1] 1 2

	Shapiro-Wilk normality test

data:  data$val[data$type == p & data$treat == t]
W = 0.89049, p-value = 0.3208

[1] "ANOVA"

Error: ani
          Df Sum Sq  Mean Sq F value Pr(>F)
treat      1 0.0005 0.000496   0.035  0.856
Residuals  8 0.1124 0.014050               

Error: ani:type
           Df  Sum Sq Mean Sq F value   Pr(>F)    
type        1 0.11016 0.11016 224.938 3.86e-07 ***
type:treat  1 0.00335 0.00335   6.839   0.0309 *  
Residuals   8 0.00392 0.00049                     
---
Signif. codes:  0 ‘***’ 0.001 ‘**’ 0.01 ‘*’ 0.05 ‘.’ 0.1 ‘ ’ 1

	Wilcoxon signed rank test

data:  data$val[data$treat == 0 & data$type == 1] and data$val[data$treat == 0 & data$type == 2]
V = 10, p-value = 0.125
alternative hypothesis: true location shift is not equal to 0

[1] "Paired T test for the SNI between continuity and fragility"

	Wilcoxon signed rank test

data:  data$val[data$treat == 1 & data$type == 1] and data$val[data$treat == 1 & data$type == 2]
V = 21, p-value = 0.03125
alternative hypothesis: true location shift is not equal to 0

	Wilcoxon rank sum test

data:  data$val[data$treat == 0 & data$type == 1] and data$val[data$treat == 1 & data$type == 1]
W = 9, p-value = 0.6095
alternative hypothesis: true location shift is not equal to 0

	Wilcoxon rank sum test

data:  data$val[data$treat == 0 & data$type == 2] and data$val[data$treat == 1 & data$type == 2]
W = 13, p-value = 0.9143
alternative hypothesis: true location shift is not equal to 0


rcardis
Note
	Two Sample t-test

data:  sham and sni
t = -0.50329, df = 21, p-value = 0.62
alternative hypothesis: true difference in means is not equal to 0
95 percent confidence interval:
 -0.04956733  0.03025066
sample estimates:
mean of x mean of y 
0.3361000 0.3457583 

rcardis
Note
	Bartlett test of homogeneity of variances

data:  val by type
Bartlett's K-squared = 0.0017728, df = 1, p-value = 0.9664


	Bartlett test of homogeneity of variances

data:  val by treat
Bartlett's K-squared = 0.68032, df = 1, p-value = 0.4095

[1] 0 1

	Shapiro-Wilk normality test

data:  data$val[data$type == p & data$treat == t]
W = 0.97041, p-value = 0.8906

[1] 1 1

	Shapiro-Wilk normality test

data:  data$val[data$type == p & data$treat == t]
W = 0.89696, p-value = 0.1449

[1] 0 2

	Shapiro-Wilk normality test

data:  data$val[data$type == p & data$treat == t]
W = 0.93026, p-value = 0.4135

[1] 1 2

	Shapiro-Wilk normality test

data:  data$val[data$type == p & data$treat == t]
W = 0.91471, p-value = 0.2451

[1] "ANOVA"

Error: ani
          Df  Sum Sq  Mean Sq F value Pr(>F)
treat      1 0.00659 0.006585   0.813  0.378
Residuals 21 0.17014 0.008102               

Error: ani:type
           Df  Sum Sq Mean Sq F value   Pr(>F)    
type        1 0.24724 0.24724 446.885 1.23e-15 ***
type:treat  1 0.00091 0.00091   1.646    0.213    
Residuals  21 0.01162 0.00055                     
---
Signif. codes:  0 ‘***’ 0.001 ‘**’ 0.01 ‘*’ 0.05 ‘.’ 0.1 ‘ ’ 1


rcardis
Note
	Bartlett test of homogeneity of variances

data:  val by type
Bartlett's K-squared = 10.089, df = 1, p-value = 0.001492


	Bartlett test of homogeneity of variances

data:  val by treat
Bartlett's K-squared = 0.070236, df = 1, p-value = 0.791

[1] 0 1

	Shapiro-Wilk normality test

data:  data$val[data$type == p & data$treat == t]
W = 0.95235, p-value = 0.6741

[1] 1 1

	Shapiro-Wilk normality test

data:  data$val[data$type == p & data$treat == t]
W = 0.94496, p-value = 0.5649

[1] 0 2

	Shapiro-Wilk normality test

data:  data$val[data$type == p & data$treat == t]
W = 0.88646, p-value = 0.1256

[1] 1 2

	Shapiro-Wilk normality test

data:  data$val[data$type == p & data$treat == t]
W = 0.9769, p-value = 0.9682

[1] "ANOVA"

Error: ani
          Df Sum Sq Mean Sq F value Pr(>F)
treat      1  0.098  0.0976   0.291  0.595
Residuals 21  7.054  0.3359               

Error: ani:type
           Df Sum Sq Mean Sq F value   Pr(>F)    
type        1  39.58   39.58 174.959 1.18e-11 ***
type:treat  1   0.01    0.01   0.034    0.856    
Residuals  21   4.75    0.23                     
---
Signif. codes:  0 ‘***’ 0.001 ‘**’ 0.01 ‘*’ 0.05 ‘.’ 0.1 ‘ ’ 1

rcardis
Note
	Two Sample t-test

data:  sham and sni
t = -0.23022, df = 12, p-value = 0.8218
alternative hypothesis: true difference in means is not equal to 0
95 percent confidence interval:
 -0.08026809  0.06492643
sample estimates:
mean of x mean of y 
0.3335167 0.3411875 

rcardis
Note
	Bartlett test of homogeneity of variances

data:  val by type
Bartlett's K-squared = 0.00087738, df = 1, p-value = 0.9764


	Bartlett test of homogeneity of variances

data:  val by treat
Bartlett's K-squared = 0.036864, df = 1, p-value = 0.8477

[1] 0 1

	Shapiro-Wilk normality test

data:  data$val[data$type == p & data$treat == t]
W = 0.8875, p-value = 0.3053

[1] 1 1

	Shapiro-Wilk normality test

data:  data$val[data$type == p & data$treat == t]
W = 0.95961, p-value = 0.8063

[1] 0 2

	Shapiro-Wilk normality test

data:  data$val[data$type == p & data$treat == t]
W = 0.87636, p-value = 0.2527

[1] 1 2

	Shapiro-Wilk normality test

data:  data$val[data$type == p & data$treat == t]
W = 0.94608, p-value = 0.6717

[1] "ANOVA"

Error: ani
          Df Sum Sq Mean Sq F value Pr(>F)
treat      1 0.0995 0.09952   0.894  0.363
Residuals 12 1.3359 0.11133               

Error: ani:type
           Df  Sum Sq Mean Sq F value   Pr(>F)    
type        1 0.08442 0.08442  63.951 3.77e-06 ***
type:treat  1 0.00072 0.00072   0.548    0.473    
Residuals  12 0.01584 0.00132                     
---
Signif. codes:  0 ‘***’ 0.001 ‘**’ 0.01 ‘*’ 0.05 ‘.’ 0.1 ‘ ’ 1



rcardis
Note
	Bartlett test of homogeneity of variances

data:  val by type
Bartlett's K-squared = 2.0941, df = 1, p-value = 0.1479


	Bartlett test of homogeneity of variances

data:  val by treat
Bartlett's K-squared = 1.468, df = 1, p-value = 0.2257

[1] 0 1

	Shapiro-Wilk normality test

data:  data$val[data$type == p & data$treat == t]
W = 0.94417, p-value = 0.6929

[1] 1 1

	Shapiro-Wilk normality test

data:  data$val[data$type == p & data$treat == t]
W = 0.92889, p-value = 0.506

[1] 0 2

	Shapiro-Wilk normality test

data:  data$val[data$type == p & data$treat == t]
W = 0.6792, p-value = 0.003704

[1] 1 2

	Shapiro-Wilk normality test

data:  data$val[data$type == p & data$treat == t]
W = 0.95516, p-value = 0.763

[1] "ANOVA"

Error: ani
          Df Sum Sq Mean Sq F value Pr(>F)
treat      1 0.3644  0.3644   1.849  0.199
Residuals 12 2.3651  0.1971               

Error: ani:type
           Df Sum Sq Mean Sq F value   Pr(>F)    
type        1 15.954  15.954  50.264 1.27e-05 ***
type:treat  1  0.545   0.545   1.717    0.215    
Residuals  12  3.809   0.317                     
---
Signif. codes:  0 ‘***’ 0.001 ‘**’ 0.01 ‘*’ 0.05 ‘.’ 0.1 ‘ ’ 1

rcardis
Note
	Bartlett test of homogeneity of variances

data:  val by treat
Bartlett's K-squared = 0.31738, df = 1, p-value = 0.5732

	Bartlett test of homogeneity of variances

data:  val by type
Bartlett's K-squared = 0.084957, df = 1, p-value = 0.7707

[1] 1 0

	Shapiro-Wilk normality test

data:  data$val[data$type == ty & data$treat == tr]
W = 0.89446, p-value = 0.38

[1] 1 1

	Shapiro-Wilk normality test

data:  data$val[data$type == ty & data$treat == tr]
W = 0.95254, p-value = 0.7179

[1] 2 0

	Shapiro-Wilk normality test

data:  data$val[data$type == ty & data$treat == tr]
W = 0.97769, p-value = 0.9219

[1] 2 1

	Shapiro-Wilk normality test

data:  data$val[data$type == ty & data$treat == tr]
W = 0.93756, p-value = 0.5565

	ANOVA

Error: ani
          Df Sum Sq Mean Sq F value  Pr(>F)   
treat      1 0.3672  0.3672   14.94 0.00225 **
Residuals 12 0.2949  0.0246                   
---
Signif. codes:  0 ‘***’ 0.001 ‘**’ 0.01 ‘*’ 0.05 ‘.’ 0.1 ‘ ’ 1

Error: ani:type
           Df  Sum Sq Mean Sq F value  Pr(>F)    
type        1 0.23869 0.23869 110.293 2.1e-07 ***
treat:type  1 0.00165 0.00165   0.764   0.399    
Residuals  12 0.02597 0.00216                    
---
Signif. codes:  0 ‘***’ 0.001 ‘**’ 0.01 ‘*’ 0.05 ‘.’ 0.1 ‘ ’ 1

rcardis
Note
	Bartlett test of homogeneity of variances

data:  val by treat
Bartlett's K-squared = 0.35656, df = 1, p-value = 0.5504

	Bartlett test of homogeneity of variances

data:  val by type
Bartlett's K-squared = 0.022501, df = 1, p-value = 0.8808

[1] 1 0

	Shapiro-Wilk normality test

data:  data$val[data$type == ty & data$treat == tr]
W = 0.73181, p-value = 0.02002

[1] 1 1

	Shapiro-Wilk normality test

data:  data$val[data$type == ty & data$treat == tr]
W = 0.97387, p-value = 0.9257

[1] 2 0

	Shapiro-Wilk normality test

data:  data$val[data$type == ty & data$treat == tr]
W = 0.92513, p-value = 0.5635

[1] 2 1

	Shapiro-Wilk normality test

data:  data$val[data$type == ty & data$treat == tr]
W = 0.921, p-value = 0.4006

	ANOVA

Error: ani
          Df Sum Sq Mean Sq F value Pr(>F)
treat      1 0.0336 0.03358   0.246  0.629
Residuals 12 1.6360 0.13633               

Error: ani:type
           Df Sum Sq Mean Sq F value   Pr(>F)    
type        1  36.69   36.69 101.648 3.28e-07 ***
treat:type  1   0.50    0.50   1.398     0.26    
Residuals  12   4.33    0.36                     
---
Signif. codes:  0 ‘***’ 0.001 ‘**’ 0.01 ‘*’ 0.05 ‘.’ 0.1 ‘ ’ 1

rcardis
Note
	Bartlett test of homogeneity of variances

data:  val by type
Bartlett's K-squared = 10.089, df = 1, p-value = 0.001492


	Bartlett test of homogeneity of variances

data:  val by treat
Bartlett's K-squared = 0.070236, df = 1, p-value = 0.791

[1] 0 1

	Shapiro-Wilk normality test

data:  data$val[data$type == p & data$treat == t]
W = 0.95235, p-value = 0.6741

[1] 1 1

	Shapiro-Wilk normality test

data:  data$val[data$type == p & data$treat == t]
W = 0.94496, p-value = 0.5649

[1] 0 2

	Shapiro-Wilk normality test

data:  data$val[data$type == p & data$treat == t]
W = 0.88646, p-value = 0.1256

[1] 1 2

	Shapiro-Wilk normality test

data:  data$val[data$type == p & data$treat == t]
W = 0.9769, p-value = 0.9682

[1] "ANOVA"

Error: ani
          Df Sum Sq Mean Sq F value Pr(>F)
treat      1  0.098  0.0976   0.291  0.595
Residuals 21  7.054  0.3359               

Error: ani:type
           Df Sum Sq Mean Sq F value   Pr(>F)    
type        1  39.58   39.58 174.959 1.18e-11 ***
type:treat  1   0.01    0.01   0.034    0.856    
Residuals  21   4.75    0.23                     
---
Signif. codes:  0 ‘***’ 0.001 ‘**’ 0.01 ‘*’ 0.05 ‘.’ 0.1 ‘ ’ 1


